2

é/ﬁ‘
7

o
| 3o
B g,»w»;_ 3|38 13’_‘ I ETHBEL
1L B2V 2RF:

N

ey TRIFVNFGEIGFHEOFHRE 6

7

2. Ffr AR R T AR BMRA R EH RN AR S

Ir'g' PRABIES | W2

BOLEI BALRRY 2B

SR TR A 2 RE L » USD20,000/+)

® 435% USD20,000%¥2/12(" )* 30.36(%3)=NTD 101,200
® E:NTD20,000 (%7 kL)

® Y FREY A ETHBELE=101200+20,000=121,2004

AwfT Y AN ER =B F) /1.2

A= (101,200+20,000)/1.2=101, 000( £ & =% 00 - % % 3 §)

F e
25 Ko $ Ik 00 2 50 0F » FEHUL IS - ORI s -

A S A T K o T

E =50 A amdiim
=50 iR
i =50 &

BERFHENZFEF=An KT HRAEFX 20%

B = 101, 000%20%=20, 200

® FiYiRgg=A+B=101,000+20,200=121,200 <+




FOLREFD AL

RSP

(A & PR s WM AL R & 3

® 4% USD283*5p *31.36 (%)= NTD 42,959
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b 1 119, 000 99, 167 99, 200 19, 840 119, 040
b 9 88,500 73, 750 73, 750 14, 750 88, 500
5 3 70,000 58,333 58, 300 11, 660 69, 960




